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Zp = 3(20% — 4wy + v*)? x (4o — 4y) = 3(4v — 4y)(22° — day + ¢°)?
2z, = 3(22% — dzy + 3*)? x (—da + 3y?) = 3(—4x + 3y*)(22* — 4wy + y*)?
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dz = {3(4x — 4y)(22° — 4oy + y*)?}dx + {3(—4z + 3y°)(22* — 4y + v*)*}dy
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y FilA s 3 x (—4) x (2)% = —48
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zp = 3(4x — 4y) x (222 — day + y°)?
z, = 3(—4x + 3y%) x (22° — dzy + ¢°)?
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Zow = 3 X (4) X (227 — 4oy + y*)? + 3(4x — 4y) x 2(22% — dzy + °) x (4o — 4y)
= 12(22° — 4oy + 3°)* + 6(4x — 4y)*(22° — day + y°)
Zay = 3 X (—4) X (22% — dzy + y*)? + 3(4z — dy) x 2(22° — dzy + ) X (—4x + 3y?)
= —12(22° — 4oy + y*)? + 6(4x — dy)(—da + 3y?) (222 — day + o)
2y = 3 % (6y) x (22° — dzy + y°)* + 3(—4x + 3y°) x 2(22° — 4wy + ¢°) x (—4x + 3y°)
= 18y (22% — day + y*)? + 6(—4a + 3y)?(22% — 4oy +4°)
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B2 f(z,y) = e**siny & SIRDIHEF TY 70—V VERFT K, W6 22z dsZ L)
¥72, TOMERIZz =01, y=—-01%2RALTe %?sin0.1 = —0.08173668839360 - - -
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